Chapter 12 

Figure 1
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Use this graph to answer the following questions:

1. Is this an inflationary gap or a deflationary gap?

2.
How much is it?

3. What two fiscal policy measures do you recommend to remove it?

4.
How much is the multiplier?

Figure 2
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Use this graph to answer the following questions:

5. Is this an inflationary gap or a deflationary gap?

6.
How much is it?

7. What two fiscal policy measures do you recommend to remove it?

8. How much is the multiplier?

9.
When the MPC is .6, how much is the multiplier?

10.
When the MPC is .2, how much is the multiplier?

11.
If C rises by $40 billion and the multiplier is 7, what happens to the level of GDP?

11. If G falls by 20 and the multiplier is 4, what happens to the level of GDP?

12. If GDP is $6 trillion, the multiplier is 9, and I rises by 20, what is the new level of GDP?

14.
If GDP is $8.9 trillion, the multiplier is 6, and C falls by 30, what is the new level of GDP?

15.
If GDP is $9 trillion, the MPC is .5, and I rises by 30, what is the new level of GDP?

16.
If GDP is 7500, the MPC is .8, and G falls by 20, what is the new level of GDP?

17. If equilibrium GDP is $200 billion greater than full-employment GDP and there is a inflationary gap of $50 billion, how much is the multiplier?

18.
If full-employment GDP is $300 billion greater than equilibrium GDP and there is a deflationary gap of $60 billion, how much is the multiplier?

19.
If full-employment GDP is $2 trillion greater than equilibrium GDP and the multiplier is 5, how much is the deflationary gap?

20.
If equilibrium GDP is $2 trillion greater than full-employment GDP and the multiplier is 4, how much is the inflationary gap?

21.
Suppose that Mr. Kemp and Mr. Gore each have MPCs of .8. If Mr. Kemp receives one thousand dollars of income, (a) how much of that would he be expected to spend? (b) If Mr. Gore receives all of the money that Mr. Kemp spent, how much would Mr. Gore be expected to spend?

22. If Mr. Gingrich receives $100,000 from his newly created government contract and give Mr. Gephardt $50,000 for doing some political research, and then Mr. Gephardt gives Mr. Clinton $25,000 for setting up some political focus groups, and assuming everyone else in the nation has the same spending pattern, (a) How much is the multiplier? (b) If $10 billion of new investment had been made, by how much would our GDP rise?

Chapter 12 Appendix 

1.
If we had a budget deficit of $115 billion and an unemployment rate of 8 percent, would we have a full-employment surplus or deficit? Of how much?

2.
If we had a budget deficit of $185 billion and an unemployment rate of 9 percent, would we have a full-employment surplus or deficit? Of how much?

3.
If the unemployment rate were 6.5 percent, how large should our deficit be?

4.
If the unemployment rate were 8.5 percent, how large should our deficit be?

5.
Given: tax receipts of 1800; government spending of 1900; and an unemployment rate of 7.5 percent. (a) How much is the actual deficit? (b) How much is the full-employment budget deficit or surplus?

6.
Given: tax receipts of 1750; government spending of 1930; and an unemployment rate of 11 percent. (a) How much is the actual deficit? (b) How much is the full-employment budget deficit or surplus?

